Industrial Revolution Review Sheet
Vocabulary to know: 

Social Darwinism
Monopoly
Industrialization
Laissez Faire
Urbanization
Alexander Graham Bell
Thomas Edison
John D.  Rockefeller
Andrew Carnegie
Cornelius Vanderbilt 
J.P. Morgan
Wright Brothers
Tenements
Robber Barons
Haymarket Riot
Gilded Age
Collective Bargaining
Philanthropy
Samuel Gompers
Henry Ford
Assembly Line
Gospel of Wealth
Boss Tweed
Political Machine
American Federation of Labor
Knights of Labor
Sherman Anti-Trust
Old Immigrant
New Immigrant
Quota Acts
Chinese Exclusion Act
Nativist


Short Answer Questions:
1) What were some reasons immigration increased during the industrial revolution?



2) List three results of the Industrial Revolution.




3) Discuss why workers wanted to form unions? What were the goals of unions? 




4) How did the American Federation of Labor differ from the Knight of Labor? 




5) Discuss the idea of Social Darwinism. How does it relate to the industrialists of the Industrial Revolution? 




6) Define laissez faire. Who would be in support of laissez faire and who would be opposed to it? 
















Multiple Choice Questions
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In the late 1800s, the principles of Social
Darwinism were most consistent with the ideas of

(1) Populism

(2) laissez-faire economics
(3) trustbusting

(4) utopian socialism
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The theory of Social Darwinism was often used to
justify the

(1) creation of the Ku Klux Klan

(2) formation of business monopolies

(3) use of strikes by labor unions

(4) passage of antitrust laws
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In the late 19th century, Congress tried to limit
the power of monopolies by

(1) creating the Federal Trade Commission

(2) strengthening the Supreme Court

(3) adopting Granger laws

(4) passing the Sherman Antitrust Act
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In the late 1800s, the creation of the Standard Oil
Trust by John D. Rockefeller was intended to

(1) protect small, independent oil firms
(2) control prices and practices in the oil refining
business

(3) increase competition among oil refining
companies

(4) distribute donations to charitable causes
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One reason the American Federation of Labor
AFL) was successful was that this organization
focused on the needs of skilled workers

(

(1

(2) rejected the use of strikes and boycotts
(3) ended the use of blacklists by employers
(4)
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The growth of big business in the late 1800s
resulted in

(1) a reduction in child labor

(2) the elimination of the middle class

(3) the widening of the economic gap between
rich and poor

(4) a shift in transportation investment from
railroads to canals
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Source: Frank Beard, The Judge, July 19, 1884
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Which type of business organization is being
criticized in this cartoon?

(1) monopoly

(2) multinational corporation

(3) partnership

(4) proprietorship

Which government policy would this cartoonist
most likely support?

(1) adopting antitrust laws
(2) easing regulations regarding mergers

(3) giving government subsidies to financial
institutions

(4) encouraging large companies to relocate
overseas
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In the 1920s, the passage of the Quota Acts and
the trial of Sacco and Vanzetti illustrate that many
Americans were

(1) intolerant of ethnic minorities
(2) committed to racial integration

(3) worried about foreign wars
(4) determined to increase immigration
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A major cause of antagonism toward the “new
immigrants” who came to the United States after
1880 was the belief that they

(1) were better educated than native-born
Americans

(2) had a higher standard of living than most
Americans

(3) adapted easily to American culture

(4) competed with Americans for jobs as
unskilled laborers
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bHase your answers to quesuons 16 and 19 on the
passage below and on your knowledge of social studies.

“. .. This, then, is held to be the duty of the man
of Wealth: First, to set an example of modest,
unostentatious  living, shunning  display or
extravagance; to provide moderately for the
legitimate wants of those dependent upon him;
and after doing so to consider all surplus revenues
which come to him simply as trust funds, which he
is called upon to|administer, and strictly bound as
a matter of duty to administer in the manner
which, in his judgment, is best calculated to
produce the most beneficial results for the
community—. .."

— Andrew Carnegie, “Wealth,” North American
Review, June 1889

18 According to this passage. the responsibility of
the wealthy is to
(1) invest in future industry to increase wealth
(2) share their excess wealth with the community

(3) maintain a lifestyle consistent with their
wealth

(4) influence government to assist all people
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Andrew Carnegie carried out the ideas expressed
in this statement by

(1) funding numerous libraries and educational
institutions

(2) serving many years in the federal government

(3) investing his fortune in several new industries

(4) promoting programs to benefit the wealthy
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Speaker A:

Speaker B:

Speaker C:

Speaker D:

Feeding and clothing the poor is a
mistake. Just as nature weeds out unfit
members, a capitalist society should be
allowed to do the same.

To provide for the common good and
protect the people, the government
should pass laws to prevent the sale of
alcohol.

To promote economic growth, the
government  should expand  United
States markets overseas.

Since transportation is a public
necessity, the government should own
and operate the railroads in the public
interest.

17 Which speaker would most likely support the
theory of Social Darwinism?

(1) A
(2) B

3) C
(4) D
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In the late 19th century, critics of big business
claimed that monopolies most harmed the
economy by

(1) limiting competition

(2) decreasing the urban growth rate

(3) preventing technological innovation

(4) failing to keep pace with European industries

In the late 19th century, the ideas of Social

Darwinism were used prinmrily to

(1) encourage the passage of compulsory
education laws

(2) explain the differences in income between
the rich and the poor

(3) urge Congress to end immigration

(4) support the growth of new political parties
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During the late 1800s, pools and trusts were used
by big business in an effort to

(1) increase imports

) limit competition

) improve working conditions

4) reduce corporate income taxes
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The Interstate Commerce Act (18S7) and the
Sherman Antitrust Act (1890) were efforts by the
federal government to

(1) regulate some aspects of business
) expand the positive features of the trusts
) favor big business over small companies

4) move toward government ownership of key
industries
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Which factor contributed the most to
urbanization in the late 1800s?

(1) assimilation (3) imperialism

(2) industrialization (4) nullification




